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1. Componendoof 5:8::20:32
(i) 8:5::32:20 (ii) 5:20::8:32 (iii) 3:8::12:32 (iv) 13:8::52:32 (v) 13:3::52:12

o h_u
2. Dividendo of =
N~ h—Ffu-d .. f d ... h f . h+fu+d h+f u+d
i) — =2 (i) =7 (i) r= (V) =" (V) —— =
R L L L e
3. Find the third proportional of75and 15
(i) 75 (ii) O (iii) 15 (iv) 225 (v) 3
4. Which of the ratios is proportional to 24 : 67
(i) 19:5 (ii) 20:5 (iii) 20:2 (iv) 20:7 (v) 21:5
u_b
5. Componendo of =3
.~ f a ... u—fb-—a .. Uu+tf b+ta i+ f b+a u_f
i) - = ii =" i) - = iv) . = =-
()Ub()f a()u—fb—a()f a()ba

6. Find the product of extremes 0f19:17 and10:4
(i) 76 (ii) 78 (iii) 73 (iv) 170 (v) 75

7. Ifa:b::c:d,then
(i) abc = bcd (ii) ac = bd (iii) ad = bc (iv) ab =cd

8. Invertendoofw:a::n:r

(i) win:a:r (i) w—a:axn—rr (iii) w+ aw—-a:n+rn—r (iv) aw:rn (v) w+ a:a:n+r.r

9. Alternendoof t_w
X c
X C ,.. t x .. t+rx w+c - ft4+x w+c t—x w——c
(i) S== (i) === (iii) - =. (iv) - =. (v) - =.
t w w c t—x w—-c¢ X c X c

10. If(3x2=10xy+3y2)=0, findx : y

(i) 4:1or1:3 (i) 3:10rl:5 (iii) 3:1orl1:3 (iv) 2:10r1:3 (v) 3:10r0:3
11. Find the mean proportional betweenv8 and 4v2
(i) 1 (i) 5 (i) 6 (iv) 4 (v) 3

12. Dividendoofu:viim:i

(i) viuzzicm (i) u+ viveim+ i (i) v+ viu—vim+im—i (iv) v—vivim—ii (V) u:m:v.i
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a_c

If b—d,then which of the following is true ?
5a+4b 5c+ 3d i 5a—-4b 5c-3d (i) 5+ 3b 5c+ 3d (iv) 5a+3d 3b+ 5c¢
- =- i) - =- iii) - =- iv) - =-
5a—-4d 5c-4d 5a—-4d 5c-4d 5a—-—3b 5c-3d 5a—-3d 3b-5c
If 2 _ b £ h b 0,th h of th ios i |
btcctaat bW erea + b+ c#0,then each of the ratios is equal to

1 -1
(i) 5 (ii) a+b+c (i) 2 (iv) (-2) (v) -1
5_20
Componendo of-20 =30
20 _80 5 _20 15_60 25 100 25 100

) 5 =20 M 55=g0 M 35750 ™ 3080 ™ 15760

Componendo and Dividendoof 8:9::24:27

(i) 8:24::9:27 (ii) 17:1::51:3 (iii) 17:9::51:27 (iv) 9:8::27:24 (v) 1:9::3:27

Componendoofs:y::g:f

(i) s+ yynig+ £if (ii) y:si:fig (iii) s+ y:s—yug+ fig—1F (iv) s—y:yu:g— Ffif (v) s:g:y:f

Whatmust be subtracted from29,26,50,44 so that the resulting numbersare in proportion ?

(i) 7 (ii) 8 (iii) 6 (iv) 9 (v) 10

If 'b'is the mean proportional between ‘a’and ‘c’,then the mean proportional between ( a2 + bz)and( b2 + c2) is

(i) ab+ bc +ca (ii) b(a+c) (iii) a(b+c) (iv) c(a+b)

Invertendoof 5:3::15:9
(i) 8:3::24:9 (ii) 2:3::6:9 (iii) 8:2::24:6 (iv) 3:5::9:15 (v) 5:15::3:9

V(x+5) + V/(x=5)

Solve =
V(x+5) = V(x-5)
(0) 327 (i 285 (i) 323 (iv) 325 ) 365
| I - 1 - v \ -
16 14 16 16 18
Find the product of means of1:15 and3:12

(i) 12 (ii) 44 (i) 43 (iv) 47 (v) 45

Ifa: b:: b: c,then the mean proportional is

(i) a (ii) ac (iii) bc (iv) ¢ (v) b

Dividendoof 3:4::9:12
(i) 1:4::3:12 (ii) 7:1::21:3 (iii) 7:4::21:12 (iv) 3:9::4:12 (v) 4:3::12:9



(a3+27ab?)
25. If - =-— ,finda:b
(982b+27b3)

(i) 6:1 (ii) 5:1 (iii) 6:-2 (iv) 7:1 (v) 6:3



Assignment Key
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